9 step series, sample and surround mean grey U40 is t0o dark, evaluate scaling of Us8@50.
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evaluate the scaling for the presented Grey U40 between White W and Black N
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vinv= log [eue]  log [0,50] =1,500

surround Grey: U40

ieb01-1a, image 1, evaluate (e) visual scaling between Black N - Whitg¥0,67

9 step series, sample and surround mean Grey is U4L, all samples are lighter basedgon®35.
0 1 21 31 a1 61 71 8
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surround Grey: U41

based on the value save 7 data above as text
€06=0,35.

ieb01-3a, image 3, evaluate (e) visual scaling between four of nineystgits67

9 step series, sample and surround mean Grey is U41, all samples are lighter basedgan®35.
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evaluate the scaling for two of 5 steps
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{0 next image 3

1eb01-2a, image 2, evaluate (e) visual scaling between two of five FiFFB67

9 step series, sample and surround mean Grey is U41, all samples are lighter baseda@35.
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9 step series based on all visual adjustrients used for output inearization
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difference visible?

ieb01-4a, image 4, evaluate (e) visual threshold (+0,04?) of 9 steps; all ggE%7




